130-028( A"-011) (1/1)

130-028

cm
10|20
10(20|30
0 10 20 30 40 50 60
E 0.70 0.7 3
= AYAYAYAYAY -
- A\YAVAVAVAV —]
IAYAVAYAYAN 1.15| 3 3 -
(VAVAVAVAY] / / 3
AN 32 32| 2.4
(VAVAVAVAY] 1.47 —
NN =
KXNRY =
4 4 —
A\YAVAVAVAV 12:15 | / / -
AN 3 FIEY. 3
(VAVAVAVAY] . 4
AAAAN 2.48 =
(VAVAVAVAY] =
NN
(VAVAVAYAYi 13.15 | ﬁ ‘/‘ =
IAYAYAYAWAY 31 31| 3 —
(VAVAVAVAY] T - =
AN - 7
(VAVAVAVAY] 4.20 =
AN =
\VAVAVAVAY] 4.15| S 5 =
NN —= / / =
A\YAVAVAVAY 31 31| 4.8 -
IAYAYAYAYAY 4.46 =
A\YAVAVAVAV —
AN . . =
(VAVAVAVAY] —
AN =151 / =
5.45 4.75\/\/\/\/\/ 30 30 =
(VAVAVAYAY] 5.45 =
IAYAYAVAWAY
A\YAVAVAVAV 7 7 —
AYAVAVAWAY 16.15 | Y 7 —
VAV =
30 30| 1 =
6.60 1.9 001 .45 =
7.15] 5 5 =
/ / =
30 0| § =
7.45 =
8.15] 4 4 =
/ / 3
31 31| 3.9 =
8.46 =
9.15| S S
= 7 /
30 0| §
9.45
10.15| 4 4 =
/ / =
10.50 3.9 31 31| 3.9 =
10.46 =
e -
p 11.15] 3 3 —
/ / 3
Z 33 33| 2.7 =
T1.48 =
12.15 3 3 =
/ = 7 =
Z 32 32| 2.9
= 12,47 ~—~— —
13.15 2.69—— | 13.15| 40 40 =
0-0-0 / / ——
o tok 30 30| 4 =
0:0:0 13.45 =
A9 50 3
OéOéO i =
0:0:0 14-15) 55 10 | 150 N =
Y070+ 14.25 =
O'OOC')O —
0:0%0 50 50 =
00> / /
05050 15.15) o 9 | 167 —\ =
0924 15.24 3
02625 i
69026 15| 7 7 E
eRtek —V) 12 | 125 N =
0:0:0 16.27 =
00> =
05959 50 50 =
SO~ / / —
- C.)O.OOQ 17-15 7 7 | 214 RN =
E 0:0:0 17.22 E
= 00> =
- OéOéO =
E ~0:0- 50 50 =
F s 0:0x0) / /
FE |18.271 5.14-0-O - ) 12 | 128 RN =
E 18.27 =




